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1. Choose the odd one out:

a) b)

c) d)

Correct Answer: b 1 Mark
2. There are rectangles and circles in the following figure.

a) 6,2 b) 7,

c) 4,2 d)5,3

Correct Answer: d 1 Mark
3. Which is the odd one out?

a) b)

c) d)

Correct Answer: b

1 Mark



Unicus Critical Thinking Olympiad (UCTO)

4. If January = 31, February = 28, then March = ?
a) 31 b) 30
c) 29 d) 27
Correct Answer: a 1 Mark
5. From the following options, select the one which is embedded in the question figure
(size may differ) :
a) b)
c) d)
Correct Answer: ¢ 1 Mark
6. Three of given figures are identical in a certain way. Choose the one that is different

from the rest:

a) b)

c) d)

Correct Answer: ¢ 1 Mark
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7. Find the next figure in the following pattern:
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c) _g\ d) %

Correct Answer: ¢ 1 Mark
8. How many slanting lines are there in the given lines?

a) 10 b) 7

c)9 d)8

Correct Answer: a

1 Mark

9. A man starts from his house and walked straight for 10 m towards North and turned left

and walked 25 m. He then turned right and walked 5 m and again turned right and

walked 25 m. Which direction is he facing now?

a) North b) East

¢) South d) West

Correct Answer: b 2 Marks
10. Among the 10 students, Rekha stood 5th. If the sum of positions of Rekha and Ajit is

12, then how many students are standing after Ajit?

a)8 b) 3
c)7 d) 4
Correct Answer: b 2 Marks



